Linear Inequalities, continued

1) Is the ordered pair %solution to the inequali >-x-57 = (6 2 =B =5 ﬁ
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YOU MUST SOLVE FOR Y BEFORE SHADING!!!!
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5) Adam is ordering helium balloons for his sister's birthday. He has up to $15 to spend. Decorative balloons
cost $3.00 each and solid colored balloons cost $0.50 each.

Let x be the number of decorative balloons and y be the number of solid colored balloons fhat he buys.
a. Write an inequality to describe the situation.

3x+0.5y<15 (5,00 (0,30)
b. Graph the solutiélns.
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¢. Give two possible combinations of decorative
and solid colored balloons Adam can order.
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d. What does the x intercept rerresent?

e buys 5 decomsfive b ,he c:qnbu (V)
e. What does the y intercept represent’? cwbred h’ﬂwns
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6) The royalties for the high school play are $250. Tickets to the play cost $5 for students and $8 for
nonstudents. Write a linear inequality to describe the number of student and nonstudent tickets that
need to be sold so that the drama class can pay the royalties? X= #shdont Hickets

Define each of your variables. Y =3 ponstr wlet Fickels
5% +8y= 350
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7) Trey is buying peach and blueberry yogurt cups. He will buy at most 8 cups of yogurt.
Let x be the number of peach yogurt cups and y be the number of blueberry yogurt
cups he buys.

a. Write an inequality to describe the situation.
X +>/ <9
b. Graph the solutions.

¢. Give two possible combinations of peach Blue-
and blueberry yogurt that Trey can choose. bers

3pexch Y blu gbg% lﬁm N Hmbe
d. What does the x intertept represent?

He con buy Bpmchi- 0 blueberry.

e. What does the y intercept represent?

He can bu)r 0 pach+ B HWIM’Y.
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10) Why does the graph of y > x contain a solid line while the graph of ¥ > X contains a dotted line?
A solid ine represents poimts thet ave  solutions,
The beundry line 'is y =x 3 all poirtts Where ?/ =x wi|l male Y Zx true,
n

make y> X +rue A detted five represerds Huk the pointts
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11) A froyo shop ants to have at least 100 gallons froyo in stock. The table shows the current inventory.

Write an inequality that represents the numbers of gallons of vanilla and chocolate that have to be in stock.

Flavor ] Gallons

Cake Batter 20 X + Y+20+35+'7> lOO
Chocolate X : "

or

ookies & Cream 35

RedVelvet | 17 @ + 72210 |

or

[x+y224]

‘Ramona has $18 that she can spend on food for her dog. Dry dog food costs $5.50 per small bag and
-dog food ¢osts $2.00 per can.

Vanilla y

rite a linear inequality that describei how many bags and cans of dog food Ramona can buy.
Y = bugs o dry dog e
ne your variables Y coms oF wet-dby fiod 5-50)“-275)8

1 Ramona buy 3 bags of dry dog food and 5 bags of wet dog food? Explain your answer.
5.50(3) +2(5) 418 ¢
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